HE10 (1) 4x(2x2—3x+5)=4x2X 2424+ 4x2X(—3x) +4x2 X5 =8x1—12x3+ 2042

3at—a—2)X(—2a)=3a’X(—2a)+(—a)X(—2a)+ (—2)X(—2a) = —6a*+2a%+4a
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—
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(1) (2x—1)(4x%+3)=(2x—1)-4x2+(22—1)-3=8x3—4x24+6x—3

2602+ x—3)(x—2)=(2x2+x—3)x+ (222 +x—3)- (—2) =243+ 22 —3x— 4x2—2x+6
=2x3—3x2—5x+6

—~
Do

-~

—_

3) (x4+3)(x*—2x+1)=x(x2—2x+1)+3(x2—2x+1)=2°—242+ x+3x2—6x+ 3
=x34+x2—5x+3

(4) 2x+1)3x2+x—2)=2x(3x2+x—2)+1-(3x2+x—2)=6x>+2x2—4x+3x2+ x—2
=6x°+5x2—3x—2

HE12 (1) 2x+52=2x)2+2-2x-5+5°=4x24+20x+25

(2) (2x—3y)2=(2x)2—2-2x-3y+ (3y)2=4x%—12xy+9y*

(3) (5x+4y)5x—4y)=(5x)%—(4y)2=25x%—16y?

4) (x+1)(x+5=x2+(14+5x+1-5=x24+6x+5

(5) (x—3)(x+8 =x24(—3+8)x+(—3)-8=x2+5x—24

6) (x—2)(x—4)=x22+{(=2)+(—4}x+(—-2)-(—4)=x2—6x+8

(7) (x+2y)(x+5y) =2*4+(2y+59)x+2y-5y=x2+Txy+10y*

8) (x+y)(x—4dy)=x2+(y—4yx+y-(—4dy)=2—3xy—4y*

9) (x—2a)(x—T7a)=x%+(—2a—"Ta)x+(—2a)-(—7a)=x*—9ax+14a?



wE13 (1) (2x+1)(4x+5)=2-4x2+(2-5+1-4)x+1-5
=8x2+14x+5

2) (x4 d)(2x—3)=1-2224{1-(=3)+4-2)x+4-(—3)
=2x%4+5x—12

3) Bx—=7(x+2)=3-12%4+{3-24+(=7)-1}x+(=7)-2
=3x?—x—14

(4) (22—5)2x—1)=2-262+(2+(—1)+(—=5) - 2x+(—=5)-(—1)
=4x2—12x+5

(5) (x+2y)Bx—y=1-32>+{1-(—p)+2y-3Jx+2y-(—y)
=3x%4+5xy—2y°

6) (3x—2a)(4x—3a)=3- 4x2+{3-(—3a)+(—2a)- x+(—2a)-(—3a)
=12x2—17ax+6a?



